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Kartesische Koordinaten Polarkoordinaten Gradmaß Polarkoordinaten Bogenmaß

A(4|3) A(5|36,9◦) A(5|0,644)

B(
√
3|1) B(2|30◦) B(2|π6 )

C(1,5|0) C(1,5|0) C(1,5|0)

D(
√
2|
√
2) D(2|45◦) D(2|π4 )

E(0|8) E(8|90◦) E(8|π2 )

F (−4|0) F (4|180) F (4|3,14)

G(−5| − 12) G(13|247◦) G(13|4,32)

H(0| − 12) H(12|270◦) H(12| 32π)

I(3,64| − 2,1) I(4,2|330◦) I(4,2| 116 π)

J(0,279| − 3,19) J(3,2|275◦) J(3,2|4,80)

K(0|2) K(2|90◦) K(|π2 )

L(11,6|3,11) L(12|15◦) L(12| π12 )

M(6| − 8) M(10|307◦) M(10|5,36)

N(−2
√
2|2

√
2) N(4|135◦) N(4| 34π)

O(0|0) O(0|0) O(0|0)

P (−0,940| − 0,342) P (1|200◦) P (1| 109 π)

Q(0,540|0,841) Q(1|57,3◦) Q(1|1)

R(1|1) R(
√
2|45◦) R(

√
2|π4 )

S(1,00|0,02) S(1|1◦) S(1|0,02)

Das war gar nicht schwierig!
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